BENG280A, Principles of Biomedical Imaging 10/30/13
Fall Quarter 2013

HOMEWORK #5
Due at 5 pm on Friday 11/08/13

Homework policy: Homeworks can be turned in during class or to the TA’s mailbox in the Graduate
Student Lounge. Late homeworks will be marked down by 20% per day. If you know that you need to
turn in a homework late because of an emergency or academic travel, please let the TA know ahead of
time. Collaboration is encouraged on homework assignments, however, the homework that you submit
should reflect your own understanding of the material.

Readings: MRI notes by Lars Hanson (PDF on the website)

Textbook reading: Skim sections 2.1, 2.2, and 3.1-3.5 (read this for general understanding, you can skip
pages 32-34). Read sections: 4.1-4.5, 5.1-5.5, 5.6.2 for general understanding. Focus on Sections 5.4,
5.5,and 5.6.2.

Videos: View the MRI safety video on the website. Also, watch the following video
http://www.youtube.com/watch?v=9SOUJP5dFEg to see what happens when a magnet loses its field.

Problems (4 problems in total):

Problem 1

1
Consider the object f(x,y) = cos(ﬁmc + 21‘[)))

a) Sketch the object by hand, labeling critical points, such as the zero-crossings and the distances
between peaks. Also use MATLAB to make an image of the object and compare the
MATLAB result to your sketch.

b) Consider sampling the object in both the x and y directions with sample intervals of A and
A ,» respectively. Indicate what sample intervals should be used to avoid aliasing.

c¢) Now consider imaging the object with a parallel beam CT imaging system. At what angle will
the projection be non-zero?

d) We now wish to sample the non-zero projection. What sampling interval should we use to
avoid aliasing?

e) Now consider the object g(x,y) = ( f(x, y))z. Answer items (c) and (d) for this object

Problem 2

From the safety video, answer the following questions: (a) What are helium and nitrogen used for in the
MRI system? (b) What does the term quench mean? (c) Why is it dangerous to smoke near an MRI
system? Find a example (on the web) of a large object that’s been pulled into the magnet and include a
copy of the image.



Problem 3

(A) k-space | (B) (C)Vector sum (D) Vector sum | (E) Vector sum for
coordinates | Phasor for object 1 for Object 2 Object 3
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-0.5,0

0.25,-0.25

-0.25,0.25

0, 0.25

-0.5,0.5

0, -0.5

0.250.25

0, -0.25

0,0

a) Each of the phasor diagrams in Figure 1 corresponds to one of the k-space locations in column A
of the table. In column (B), indicate the correct phasor diagram (labeled (a) through (i)). Note
that for each (kx,ky) location, the phasor diagram is a representation of exp(-j*2*pi(kx*x +
ky*y)). Also note the negative sign in the definition of the phasor.

b) For each object shown in Figure 2, write down the vector sum in the appropriate column.
Determine where the peaks in the vector sum and provide an explanation below why the peaks
occur where they do.
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Figure 1. Phasor Diagrams



Object 1

Figure 2. Objects



c)

Problem 4 - MATLAB exercise

In this exercise we will examine the Fourier transforms of some simple test objects.

Part 1. Create a script with the following code

¢$Define a test object

span = -16:15;

nvox = length(span);

[x,y] = meshgrid(span,span);
obj = zeros(nvox,nvox);
obj([l:8 17:24]1,:) = 1;

$Define k-space coverage

dk =

kspan

Nk =

1/32;kmax = 0.5;

= -kmax:dk: (kmax-dk) ;

length(kspan);

[kx,ky] = meshgrid(kspan,kspan);

J

for ix

Brute-force computation of the Fourier Transform

This is not the best way to compute it, but is helpful for showing the
process

= sqrt(-1);

= 1:Nk

for iy = 1:Nk;

g = exp(-Jj*2*pi*(kx(ix,iy)*x + ky(ix,iy)*y));
f = sum(sum(g.*obj)); % Fourier Transform
fmat(ix,iy) = f; %Store the Fourier transform values in fmat

end;

end

Part 2. Use imagesc to plot images of the object and its Fourier transform.

Part 3. Find the 3 highest absolute values in the Fourier transform.

a)

b)

c)

d)

e)

Where in k-space do these occur? (i.e. provide the values of kx and
ky).

Draw the quiver diagrams showing orientation of phasors corresponding to
each of these points in k-space.

Create a second set of quiver diagrams that takes into account the
knowledge of the object (i.e. where the object is equal to zero, the
product of the object and the phasor is zero). Based on the
orientation of the phasors in the quiver diagrams and the knowledge of
the object, provide an explanation of why the 3 highest values are
observed at these points in k-space.

Compute and plot the vector sum of the phasors in the quiver diagrams
from part c for each of the 3 points in k-space. Verify that the vector
sum is equal to the value of the Fourier transform at the corresponding
points in k-space.

Using the code loop above as a starting point, write MATLAB code to do a
brute force computation of the inverse 2D Fourier transform and verify
that the transform generates the original object. (HINTS: You may need
to take the real part of your answer to account for numerical precision
effects. You will also want to divide the sum by the total number of
points (which is 1024 for this object)).

Part 4.

a)

b)

Now design an object where the highest absolute value occurs at the
center of k-space (kx = 0, ky = 0) and the next 4 highest absolute
values occur at the following points in k-space (-1/16,-1/16), (-
1/16,1/16), (1/16,-1/16), and (1/16,1/16).

For each of the points in k-space: (1) plot the quiver diagrams showing
orientation of phasors; (2) plot a second set of quiver diagrams that
also take into account knowledge of the object; (3) compute and plot



the vector sum of the phasors from the second set of quiver diagrams
and verify that it that it is equal to the Fourier transform at the
corresponding k-space location.

c) Use your code to compute the inverse transform of the object and verify
that you obtain the original object.



